
qm=;+= ljj/0f nfut /sd ?=  s}lkmot

1 jf8{ g+= ^ sf] j8f sfof{no lgdf{0fsf nflu 1,700,000.00        

2 hgtf k|f=lj= hd'lgof b]lv k'j{–klZrd hfg] ljtf{ ;8s ;Dd sNe6{

lgdf{0f
300,000.00          

3
dbgk'/ 6f]ndf dgf]h /fosf] 3/ b]lv ch{'g /fosf] 3/ ;Dd /

rf}w/L /fosf] 3/ b]lv ch{'g /fosf] 3/ ;Dd klSs gfnf lgdf{0fsf

nflu

1,200,000.00        

4 hd'lgof ;fljs jf8f g+= * df /fdhfgsL dlGb/sf] k|fË0fdf /x]sf]

wd{zfnf dd{t,5fgsf] nflu 
800,000.00         

5 hd'lgof ;fljs jf8f g+= ( d8jfsf] 5t 9nfg tyf dd{t sf] nflu 500,000.00          

6
hd'lgof 6f]ndf ljgf]b d'lvofsf] hUuf b]lv c;lkm{ /fptsf] 3/ x'b}+

pQ/ af6f] efj/L v]fnf ;Ddsf] ;8ssf] b'j} 5]pdf kSsL gfnf

lgdf{0f tyf ;8s 9nfg

3,200,000.00        

7 kz' ;]jf ;]Gb||sf] sDkfp08 tyf ejg dd{t 300,000.00          

8 dbgk'/ blnt 6f]ndf wd{zfnf gofF lgdf{0f 500,000.00          ;fljs ah]6

9 l;tf/fd /fptsf] Ogf/ dd{t 253,000.00          ;fljs ah]6

hDdf 8,753,000.00        

sljnf;L gu/kflnsf jf8{ g+= ^ sf] of]hgfx?


